
O
c
e

l
/
2

0
0

O
cel/2

00

O
c
e
l
/
2
0
0

Ocel/50

Ocel/40

Ocel/5
0

Ocel/50

3.49

1.51

4.00

4.00

2.00

0.35

0.35

3.99

4.01

Z

U

 

0

,

0

0

0

0

0

K
U

 
0
,
3
5
0
7
4

K

T

 

0

,

0

4

1

8

7

K
T

 
0
,
0
9
8
8
3

2

0

,

0

0

4

0

,

0

0

6

0

,
0

0

8
0
,
0
0

2
0
,
0
0

4
0
,
0
0

6
0
,
0
0

8
0
,
0
0

2
0
,
0
0

4
0
,
0
0

6
0
,
0
0

8
0
,
0
0

2
0
,
0
0

4
0
,
0
0

ZU 0,00000

KU 0,03400

20,00

ZU 0,00000

KU 0,03399

20,00

ZU 0,00000

KU 0,03400

20,00

V

B

:
 
T

r
a

s

a

 
h

l
a

v

n

í

R

=

1

1

8

,
4

9

m

A

l
f
a

:
 
2

7

,
5

3

9

8

°

X

:
 
-
8

0

5

6

6

4

,
4

0

m

Y

:
 
-
1

1

1

9

4

6

7

,
3

8

m


